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Use Case

4. Stop alarm

Actors User

Description -0l 22l UAS W EF I (ok) = Al 20| JHEICE.
-2 AZSeHUSE0| A= B LE0 HACH

Pre-requisites 2 J|lsol 2det &5 A2t =E T

Typical Courses of 1. (A):okHES 2L

Events 2.(S): £& a2l E &L

Alternative Courses of -

Events

Exceptional Courses of [Line 1~2.(S): 2 & Al2t=0CtJ| ZE0| Sl B & Al2H

Events Al tHOZ T S0F2HCH




Use Case 5. Use StopWatch
Actors User
Description -AS/AX SHUHM S8 I (0k)E FE2EH ASKA XL

Al &t

-S3 Il (0k)E TtAl =28 ASHX JIs0l XdtD
SXAMEHU M CHAl =22 ASH X CHAl Al &S
-ASHAXINEXNEN A= oEHolA SE Il (down)S
20 S AZ2ESIHSZ LAl =0F2HCH
Pre-requisites S AIZEEAl SHH Y T
Typical Courses of 1.(A):upHHES & & =20
Events 2.(8): ASHX tHSZ M BT
3.(A):ok HES +=EL
4.(S): ASAXIIF AIREICH
5.(A): ok HHEZS +=ELL
6.(S): ASAXIJF BXIBHC
7.(A):down HEES = EL
8.(8): 25Xt JIs= SKXIot) &M Al2t HA
SFHO 2 SO0t2HCH
Alternative Courses of Line 3~4. (A) : ok HE S &L}
Events (S): ASHXIIL EXE AZHR2H MAIZE L.
Line 6~7. (A) : S22
):

(S

Exceptional Courses of
Events




Use Case 6. Turn on backlight
Actors User
Description -S4 3| (up), (next)E S A0l &= Al backlightIt 4 &
-S4 I (up), (next) =S Wl = =2+ backlightot THE
Pre-requisites STH AIZE ZAl SFHY T
Typical Courses of 1.(A):up,next HES SAI0l =21 A=C
Events 2. (S) : backlightot 74 &I Ct.
3.(A):up,next HES 2] UE &= L.
4. (S) : backlighto} JH &I C}.

Alternative Courses of
Events

Exceptional Courses of
Events

(A): £3 9| E up, downd| & 30 0| & &

(S): backlightE 1 X|
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